Interest Problems:

Compound Interest General Equation:

P=

r=

n=

t=

1. A sum of $1000 is invested at an interest rate of 12% per year. Find the amounts in the account after three years if interest is compounded annually, semiannually, quarterly, monthly daily.

	Compounding
	n
	Amount after 3 years

	Annual


	
	

	Semiannual


	
	

	Quarterly


	
	

	Monthly


	
	

	Daily


	
	


2. A sum of $1500 is invested at an interest rate of 9% per year. Find the amounts in the account after three years if interest is compounded annually, semiannually, quarterly, monthly daily.

	Compounding
	n
	Amount after 3 years

	Annual


	
	

	Semiannual


	
	

	Quarterly


	
	

	Monthly


	
	

	Daily


	
	


General Equation Continuously Compounded Interest:

P=

r=

t=

Find the amount after three years if $1000 is invested at an interest rate of 12% per year, compounded continuously.

Find the amount after three years if $1500 is invested at an interest rate of 9% per year, compounded continuously. 
